Geometry Review 2.1 (KEY)

Algebra 2
Find the missing measures. Give circumference and area in terms of pi and to the nearest tenth.
1) Circle 2) Circle 3) Circle 4) Circle
, : 04 22
radius = 5 in r=78 mm=39 mm r=493m=24.7m| r= =5.5ft
i
2 2
diameter = 2(5in.) d=78n mm=78mm d=155m=49.3 m| d=2(55f)=11 ft
=10 in. T T
Circum.|= 107tin. C =787 mm = 245 mm C=155m C=2n(55f)=11T ft
=31.41n =34.6 ft
Area = 1(5in.)? A= 7(39 mm)’ A =7n(24.7 m)’ A =94 ft?
=257 in? =1,5217T mm? =610.1 Tm?
=|78.5 in” =4,778.4 mm® =1916.7 m*

Find the length of minor arc AB using a proportion.

5) ; 6) A 7)
A q
B

8)

&/

A

74° __AB L C=27(Q20m)=125.7 in
360°  5230m 360° 897 C'=27(3iny=18.8 in _ .
180° is half of 360°. — - 28
" is half of 360°. =
goe ey E 360 40 m
=107.5 =207 semicircie A =59.4 ik e
AB=107.5cm AB =297t 42209 m
Find the area of the sector using a proportion.
10) 11) 12)
A 100
r=14m
04°  sect. 51°  sect. A=nm(7cm)? =153.9cm” Circle Area = 615.8m°
360° 63 cm’ 3607 122 fF° 210°  sect 100°  sect.
360°  153.9cm* 360°  615.8m°

Sect Area =16.5cm* Sect Area =17.3

Sect. Area = 89.8cm” Sect Area =171.1m"




Find the length of the missing side.

13)
50 14

A’ + 142 =507
A? +196= 2,500
-196 - 196
VA =12304

Given the length of one side of the 45-45-90 triangle at the right find the other

two sides to the nearest tenth..
17) 1=17
K=7

L=7+2=99

19) K=4

I=4
L=4.2 =57

21) L= 942
J=9/p=9
v
K=9

23) L=24
K=24+2 =170
1=17.0

25) K= 1242
I=1242 =170
L=12+2 2

=12*2=24

15)

B=+21

40

C=41 C=v80
C=v16¢5
C=4/5

18) K=10
J=10

L=102 =14.1

20) L= 642
K=6V[2=6
v
J=6

22) T=15.2
L=10

K=3542=7.1

24) T=14
K =14
L=14~2 =19.8

26) L=17
J=17+2=120
K=17+2=12.0




Given the length of one side of the 30-60-90 triangle at the right find the other sides to the nearest tenth.

27) U=10
V =2%10=20
T=10.3 =173

29) V=8

T=4-3 =69

31) U=13
V =13%2 =26
T=13.3 =225

33) T= 3.3
U=3/7=3

3
V=2%3=6

35) U= 443

T=4.3 J3=4%3=12

V=2%4.3=8.3 =139

28) U=22
V =22%2 =44
T=22.3 =38.1

30) T= 743
U="g=7

v
V=7%2=14

32) V=16
U=16+2=8
T=8-3 =13.9

34) U=6

T=6+3 =104

V=6%2=12

36) T=9
U=9+.3=52

V=2%+ .3=104
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